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English I
Date: arks:
:2509/10/ 2023 Duration: 2%z hrs
gt er of printed siqes: Reading Time: 15 mins
GENE %96 Writing Time: 27%s hrs
cction ST COBSists of three sec
Secti Reading -20m 2 SRHOIS:
Sect;on B Writing & GrammarkS
Oj At:)n C Literature . 40 marks_ 20 marks
- - Attempt all questiong _
adhering to the 6 i
word limit.
L. Read the pa SECTION - A (READING)
passage and answer the questions t;lat follow. (1x10=10)

that I take up swimming during the
other people dive or swim, but not
taken for my first

1. When I ;

summer. H;Nvefl:vlgr n;y Second. grade, my parents insisted
myself. I liked to’ w;?jlalfralt(]ia()f water, It was Dice 19 5%

swimming lesson on a Sun dZy, e poolside. Despite my resistance, I was

behind my mother while she talked to
fears and was patient with me. He
a level of no more than 2 feet was

de me less fearful.

fﬁeAiflxuS? tereFd the pool premises, I remember hiding
helped me icr}lzb tgrtunau?ly, my instructor understood my
warm and e wading pool. The water, which reached

and comfortable. That was a big relief for me and it ma

3. My session at the wading pool entailed walking on hands along the pool bottom and kicking
my legs as I rpoved. Next, I was taken to the medium pool to learn how to float. The water was
shallow, coming up to my waist. I learnt different ways of staying afloat. At first, I lay on my
back, arms and legs stretched in star shape, with my instructor holding me up. Very soon, 1 got
my balance and could float with my body totally relaxed. Next, I lay with my face down in the
water, with arms and legs outstretched. I tried to float a number of times. That was rather easy

and I enjoyed it.

4. I gained a lot of confidence and was interested in swimming now. In subsequent lessons, I
learnt new techniques. It has been more than four years now since I took up swimming. Today,

I take part in swimming competitions and have won several prizes.

i)The narrator did not take up swimming because he

a) liked to dive in the water b) was free only on Sundays
b) scared of water ¢) was too young to take up swimming



poo!l is /b)deep pool

; fwading
ii) The meaning © e
a) shallow paby pool d) wavy poo

¢) dangerous pool

ading poo! e {not—more than 2 feet

iii) The water in the W
d) pot more than 6 feet

a) more than 2 feet

¢) more than 4 fect

yfraid of Wore! and loved o0 dive or swim.*
r was not @

iv) ‘The narrato

sentence is —
a’l)'he ;ub:ve b) falSCth word/phrase that is ]
: se the at1s closest 1 i
v). Based on your understandings Ch°°(3 marks) n meaning to the one

given in the passage:
a) insisted- (iii) swore
b) resistance

(i) refusal to go along with ' (iii) struggle

(ii) challenge (iv) coolness
c) subsequent

i) preceding iii) much early

iv) much later

ii) following '
vi) What was the first thing the swimming instructor did to put the narrator at ease?
vii) What did the narrator learn in the medium pool ?

viii) Complete the sentence.
Very soon, I got my balance and
uestions. (1x10=10)

II. Read the passage and answer the q
eleven families that make up the carnivores, a large group of

animals. In this group are such varied animals as bears, pandas,

1. The dog family is one of the
family has many wild species like

wise, flesh-eating, backboned

raccoons, cats, hyenas, and even seal. The dog or canine

wolves, foxes, jackals, and wild dogs.

The dog is the only domesticated member of the canine family. All members of the dog

family are descendants of a wolf-like animal lived about 15 million years ago. From this
estor of

distant ancestor, the true dogs gradually developed. But nobody knows the exact anc

the modern domestic dog.
Several wild dogs look and behave like domestic dogs. The dingo or wild dog of Australia is
ht to Australia long ago

3.
one of these. It is possible that the dingo was a tamed dog broug
which then ran wild.

rhaps 25,000 years ago. Dogs

0O,

Dogs were the first animals tamed by humans in Europe - p¢
the capability of expressing their

4.
}vere first used for hunting. Highly intelligent, dogs have
joy and happiness by wagging their tails. Dogs’ sense of s
amazing ! They tilt their head to locate the source of sound.
most loyal and faithful friend of a man.

mell and hearing can be pretty
They are rightly called as the



”~N

IIL Look at the pictures given and write a story in your ow

i, How do dog$ cxprcss.thcir happiness? . tail$
a) By howling in the night b) By wagging t,hrc;; o _
c) By barking at strangers d) By eating thel ke & domestic dog.
i Name a wild dog of Australia that looks and beh2 shepherd
a)  Raccoon b) Ger rzan
¢) Dingo d) pand?
i Who first tamed the dogs ? ) India
a) Australia -
¢) Europe d) A i
iv. Dogs were initially used for ‘
a) Running b) hunting
¢) carrying loads d) guarding
v. Why do dogs tilt their head ? ) Jearl
a) To smell for food b) To see things C1¢4 y
¢) To locate the source of sound d) To catch cats
o passage - (43472)

vi. Find the antonyms of these words from the abo
(i) ancestor X (ii) wild x _——
(iii) near X (iv) ancient X __————

oyal’ means TR e =y

vii. According to the passage in para (4) the word ‘1
becomes carnivores

a) friendly b) sometimes
c) most grateful d) attacks strangers

viii. .“Dogs don’t belong to the carnivore family’. This sentence is -
a) Correct b) Incorrect

ix. Find the synonym of the word ¢clever’ from para 4.

SECTION - B (Writing & Grammar)
n words. Give a suitable title

(5marks)

to the story.
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Full na
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gan 1 .
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best player in the
2022 FIFA World Cup winner
2023 Best FIFA men's player award
V. Do as directed for the following :- 10 Marks
| Complete the following passage with the correct form of verb given in the bt'u .:“_‘
(lad=%)

One has been done as an example

Sujata eg. asked (ask) me how long | (a) (wait)for the tickets yestorday I (b)

(tell)her that Mala and [ (¢) (stand)in linc for throe hours e film (d)
(be) worth watching because it had a greal deal of information

paragraph. One has been done as an cxample.

2. Choose the correct option for the following
(123=1)

Last Sunday, | went eg. fo the railway station. There was a large crowd (a)

passengers. People stood (b) a long queve (¢) _______ the booking window

a) (i) of i) with i) by ) in
b) (1) by 1) with i) in ) on
¢) (1) for 1) with i) i w)at

lConwthlehmnmlnmnhdmmnmu bebom (Vix 6~ 3)

I live in a family of five people. My father is the (a) (edder). | have 2 sister who » (b)
(old) than me. My sister is the(c) ___ (pretty)_in the family and my brother i the

(@ (handsome). On my birthday | getthe (¢} (big) and the ()

(delicious) cake.

°



VI. Read the extra SECT]
cts and answer th(e)l::u(é-tLlTERA"lt:({Il:a
stions that follo¥

“Too boring," he sqi
. said. Hi
And it's true . HiSteacher, \
» Sometimes he didfeest tt?;id him, «po your home™
€ an ignoramus.

nathing.”

ork or you won 't lear
(1x4=4)

a)Who never did hjs home work?
. th .. -
i) the cl-f 11) teacher
b) What did he do insteaq 9

1) he played hocke
. y, basketball . . v
ii) he used to practise dance insgiNmtendo instead. 111‘3 EZ 1:22

iii) Patrick iv) Patrick’s friend
d to sleep instead.
d to fight instead.

c) fl)‘nve the meaning of “ignoramus”
1) a person i 3 ' i
i a gerson Willo ignores his health iii) a person who always studies.
who lacks education iv) a person who knows everything.

d)The writer of this lesson is

Q'Lorra'me.M Halli ii) Harry Behn
iii) Carol Moore iv) Ruskin Bond
2) “I quarrelled with my brother (1x4=4)
I don't know what about,
One thing led to another
And somehow we fell out.
The start of it was slight,
The end of it was strong,
He said he was right
. I knew he was wrong

(a) With whom did the poet quarrel?

i) brother ii) sister
b) The line ‘one thing led to another’ here means

i) They went on arguing.

L.
.

iii) friend iv) parent

ii) They stopped the fight after one thing happened.

iii) One thing that happened was petty.

iv) They liked each other after one thing.
¢) The poet of this poem is _
i) William Wordsworth

ii) Peter Dixon
ii) Eleanor Farjeon iv) Mary O’Neill
f rhyming words from the above lines.

d) Pick out 8 pair 0
5
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SINDHI P
= EAR CHOOL, X
o i 2023-24]
Class: VI BJECT. SCIE?‘)({:%MINATION [
Date: 4.10.2 Max. Marks: 80
- idonc 6 puration : 2% hrs
0. of sides: 6 ronsgs L

GENERAL INSTRUCTIONS. 3:;“ \ime: 22 hrs

1TI;: uestivg Paper has § Sectiong A
- This i . S A-E,
2. Al q“es.tmn Paper consists of 39 Quest; -
- All questions are compulsory stions in 5 Sections,

S.
5. Section C consists of 7 Short

should be in the range of 50
6. Section D consists of 3 Long
should be in the range of 80
7. Section E consists of 3 sourc

to 80 words,

to 120 Worde, carrying

e~based/case~baSed units of assessment of 04 marks each with sub-parts.

SECTION A

Answer type questions > 05 marks each. Answer to these questions

Q.NO Section A consists of 20 questions of 1 mark each.

e

i Some shining materialsmmgéﬁﬂﬁﬁcar dullin due course of time. Which
one of the following is not a reason for the dullness over the surface of the metal?
a) Materials react with nitrogen in air to form a layer over it.

b) Materials have a layer formed due to the action of air and moisture on them.
¢) Materials react with oxygen to form a layer over it.

d) Materials have a layer formed by the action of water vapour in air.

Z. Identify the material used to cut glass and grind rocks
a) Steel  b) Aluminium ¢) Diamond d) Iron

3. We should not sleep under a tree at night because

a) Oxygen is released by plants at night.

b) Carbondioxide is released by plants at night.
c) Nitrogen is released by plants at night.

d) Leaves and branches might fall on us at night.

4. “ Food gets cooked well in copper vessels.”
The property associated with the underlined material is

a) Texture b) Solubility ¢) Appearance d) Conduction of heat

LN Plants like Creepers have
i) weak stems that cannot stand upright and spread on the ground.

ii) weak stems that cannot stand upright and cannot climb.
iii) heavy fruits.
iv) light fruits.

2 iiiii | bhii  Qibiv v

1




ey heanmal

1ar worm
a) Flat worn )l,mlh /Er/_
T 8 faaf for staf

" kele
o _— T S
The animal that drags is outer

|
®|

1"

-l a .
ot cats 11 way ¢) Centipede

d) Round worm

observed in the leaf is
a) Black

d ) Bluish black

——

' ;unm

When iodine solution is added to the leaf
as a part of the starch test, the colour

b) White c) Blue

Turn bunsen = "
e along With it is,

Snail d Sta
a) Cockroach  b) Octopus c) ) Starfish

dy is

: ———ronaost bone of the o

S\E‘ ;T:}$§c~llld htl‘(l))‘)\g’lt“l:igh bone c)Upperambone  d) Shin bone
Thighbone %

10.

The small bead like structures present in the swollen part of the pistil is

a) ovule b) pollen ¢) style d) stigma

11.

The feature that does not help the cockroach 1o move are

a) Ribs, muscles and loops help move forward. .

b) Two pairs of wings attached to the thorax help ﬂy short distances.
¢) Hard outer skeleton with number of plates permits movement.

d) Three pairs of jointed legs helps in walking and running.

S

12.

13.

A B

the sand. Can you identify the snake that would move faster and why?
a) Snake B, the large loop pushes it to move forward faster.

b) Snake A, more number of loops pushes it to move faster.

¢) Snake B, less number of loops pushes it to move faster.

d) Snake A, the small loop pushes it to move forward faster.

In the abve icture and B, there are two snakes of the same size slithering on

Select the correct form to express the value of measurement
a) Only physical quantity

b) only unit
¢) chemical quantity and unit

14.

The SI unit of length and mass is

d) physical quantity and unit

a) meter and kilogram

4 b) hour and kilogram
¢) meter and litre d) kilometre and gram

2

43
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' a) the bulb A will glow firg
| ¢) the bulb C will glow firsg

b) the bulb B willi glow !

16

n
|

'_Aﬁ.ﬁhihlbd.‘tsmglou because

a) the circust s complete and therefore. current doesn't flow throw

ibidmrisnop?ucr. therefore, current doesn'; flow throegh it _
C}ﬂxﬁm!lsbﬂikmandmcmhsh\;-‘ .&mw’.dﬂt\'ﬂ!

| flow through it omplte, therct

: d) the comnections are incorrect, therefore, current docsa™t flow through &

gh it

e e A

- . - ———
| Assertion Reason based question-

fl'mm&ﬂ‘ﬁmulmnmggtorm(mbwd by a

? statement of Reason(R). Choose the correct option.
.l)BotiAndRarttru.adRisthecorrmclI*“m A

| b) Both A and R are true, and R is not the correct explanation of A.
' c)Ais true but R is false.

| d) Ais false but R is true. —

i

Assertion: Grouping of substances based on their similarities and dissimilantics is | 1
called classification.

Reasoa: Classification makes study of objects simple, casy and sysiematic !

18.

Assertion: A measuring tape or thread is used to measure a curved linc. 1
Reason: A curved line or surface can be measured by a straight scale. |

19.

Assertion: Two muscles work together to make a bone move. ' 1 1
Reason: A muscle can only pull, it cannot push.

Assertion: The application of switches is to light electric bulbs and other devices. | |
Reason: Switch is a simple device that cither breaks the circuit of completes it.

SECTION B .

Section B coasists of 6 questions of 2 marks each.

21.

|
|

a)Givconcmmpkeachofamamia!mﬂwillﬂoaundsinkinww:r. }

d) all bylhs will glow togethe? I S—

22.

Correct the statements given below and rewrite them. 2

a)Leavcsabs-OtbwatcfmdminﬂIlSﬁDmmesoiL
b) mthsloscoutcxccssmdwoughd\cmptmhdxm.

a) Identify the type of root shown in the given pcture. 2
b) Mention the type of leaf venation found in these plants.
¢) Name any two plants with these type of roots and

leaves.

|
|
b)W}mwillhappmmhmcyifitisdmppcdhmm{’ l
2
4
|
|

T——




I ﬂ("t'. All theyy ot different resills, l,i&:l any

<E=lo . FERBRRCRTIN T \ I }"g‘h 0 .
24, | Four friends measured ”.:Lti:m in the res i,
two reasons for such varid = “”';n_nd i 3
s LR Sultory v, ‘_ ,
257 [Mention. 1 ‘i;{1i5{11'(:||1cc of culld""u"i_.m‘, : With A suitable example,
are - [T ..---—““"'_‘_’_M ] 4 KOGt M . $ y ,
26, Wit an example it any w0 Ad0PUCOE L Ctkanisns ot wove thiough aie. |2
. - —"GECTION ¢
g 7P -?—iEUENIii)IIN of 3 .
I B e T consists of S marks ench,
Section ( AL
N 3
27. | Give reasons for the (ollowing '
a) Mountaineers carty oxygen cylinders Whlkj they climty mountaing
b) We — always breathe through our nOs¢ rather than our yy,
¢) Volume of water doesn’t increase when salt is added (o waler,
s : , ,
28. | Study the figures given below and answel the followin questions: 3
A B
Fine sand
a) Which of the figure A or B will form a sol_ulion and why?
b) What will happen in figure B after some time?
¢) If sand is replaced with oil in figure A, what would be your observation?
29. | To which type of category do these plants Rose, Mango and Tomato belong t07 3
Write any two important characters necessary to group them.
30.
Observe the given figure and answer the given questions.
a) Name the organs protected by this part of the skeletal
system.
b) Mention the latge bone in the front and the small bones at
the back to which the curved pairs of bones
are attached?
¢) How are the last two pairs different from the other pairs of
curved bones?
31.

Ganag_)at .has an elecfric cell and a single piece of connecting wire. Without cutting
the wire into two, will he be able to make the bulb glow? Explain with the help of a

circuit diagram.




32.

Observe the given figure and answer (he questions below.

a) Rajiv measured (he leng csn this in
centimetres, '
) ] » 5 » v :
l)(!\)ldfm the type of motion observed in (e | llowing
| aning Lo T Ay
(i) Muv(-ntl-nip (u . (1) Plucking of the rubber band
ment ol the swing (1v) Slml;ml thrown by an athlete

th of the Pole, 1t way A4 meters long, exXpr

a) Name the process scen in the given figure.

b) Where does exchange of gases occur in the leaves? Name the gases that are
required and released in this process.

¢) Mention the pigment that helps in this process. Write ils_fglﬁ m this process.

SECTION D

Secction D consists of 3 questions of 5 marks each.

34.

a) Observe the given pictures A and B and write the property of air shown in the

picture.

b) The gas X is colourless and odourless, having a slightly sour taste which is a

supports burning. It rather extinguishes burning fire. If there was no gas X in air,
then there would be no plants or animals existing on earth.
i) Name the gas X. i

ii) State the percentage of gas X in air.

lii) Why is gas X important for our life?

minor component of air. It is moderately soluble in water. This gas neither burns nor

U

35

e

belled diagram of a flower.

Draw a neat la :
. important functions of the stem.

b) Write any (WO

I
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Reading time: 80051 8am

3 Writing time: 8.15 — 10 4%4m
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* Seftion B - Question no, 2110 24 are Very Short Answer Type Questions,
carrying 2 marks each.

4. Sections ¢ - Question no, 25 to 30 are Short Answer Type Questions,
carrying 3 marks cach.

5. Sections D - Question no. 3110

34 are Long Answer Type Questions,
carrying 5 marks cach.

6. Sections E - Questions n0. 35 to 37 are case based questions with three sub
qQuestions and are of 4 marks cach

7. Sections F - Question no. 38 is map based, from History (2 marks )

N 20=30

1 | This site is located in a fertile plain, ncar the Bolan Pass, which s
" one of the most imporntant routes into lran

'a. Burzahom ¢. Hunsgs

| b. Mehrgarh d. Bhimbetka

rE——




5 Tidentify the incorre®

| —

¢ statement. . _
1

a Drains were carcfully lard out With genile slope.
b. Drains in houscs Wt connected 10 those on streets

' c. It was used dunng W‘“‘l
’ﬂﬁi ‘m hﬂ il];pf" Clion hﬂlm pros ided at lfﬂuiﬂ

OCCasions

| d. They were oV
intervals to clean them.
fouf\ai”lﬂdﬂﬁdll’toddmm! 1 1

3 | Keeping in mind the

a. Rigveda
| b. Samaveda
' ¢. Ayurveda

d Yajurveda

"% Three sentences are given below wi

' Carefully look at the given picture and identify the statement
which is incorrect about it

| a. These stone boulders were carcfully arranged

b. This type of megalith is known as 3 G1st
| ¢. Some megaliths can be seen on the surface, other megalithac

' burials are often underground

megaliths began about $000 years 3go.

d. The practice of erecting
h India, in the north-

and was prevalent throughout the Deccan, sout
cast and Kashmur.

=~ with blanks. Choose ooe word
1l the

from the given oplions which will meaningfully compicic 2

three sentendes.

————————————— A —— v

i AT

| were the opponents of Anvas



‘ g . e WOTC OGN wha dud m" m s fies |
! r L} —L & the po of thest owners, who
I‘ | Could make them g, whatover work they wanted

s Raym

b Brahmanas
- ¢ Dasa or Dasyys
|4 Vish

esiitiipsitniilie
b

| "'f’ﬁ'{ii&;;}&mhamm % & provinge of Pakisan 18 __

|| fatess l

b.1970

| le. 1907
4179

I ' M S LAY T A G ATV pe NORPTCE a

State true of false. RSO

ﬁ .

S—

SRR P

| @ record of the achicvements of the anciont Hatappan Giviluation
[lhcmofmyphmmw«mmﬂuclmndmd
| organization

E
| | Important sites, such as Mobango-Daro, Ame and KotDys bave et )
]

a2 True

b. False

. - PRI ———— - SRS

& Choose the correct option to il n the blasks. ,
;mnauummmw 2 trvbwtary of the Hhuma
Elluh

b Narmada

¢ Ganga

i i

|4 Ghod
9 Match the following

-

e
-
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I
I I s I
| “"'lm”
' 1. Deos |
‘ " “ !‘l‘“\
] 3 Kesar Saga
" : o Shaw)
‘ 1 (Cheenachattl N
V. Yak CoOw

f

|

I 4. Pashmina
| a1, 21y, 3, 40
|

b, 1-i, 2+, 3-1ii, 441V

¢, 1-iii, 2+ii, d-iv, 4+

d. 1-iv, 2-ii, 3-i, 4-ili

10 +In which ci:f&?”iﬁainmwtﬂﬂ Bagh situateq?

l a Amritsar b, Mumbai ¢ Patna  d pype
| ' D —
(11 | How does the government of India refer to the group of people who | 1
are Dalits?
a. Stereotyped Community
\ b. Lower Castes
| c. Scheduled Castes
L d. Scheduled Tribes
12 | Which of the following prevents a Gram Panchayat from doing 1
wrong things?
a. People of the locality b. State Government
¢. Gram Sabha d. Zila Parishad
I3 | In the given question given below, there are two statements marked
as Assertion (A) and Reason (R).

Read the statement and choose the correct option.

A. The gram panchayat is elected for five years.

4|Page
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22

:: r—ye ent wm Vanous schemes fﬂf the welfare of |
| 'MI he ¢” - Substantiate this StAIEMENT With two benefits of the

BPL card holders.

23

'y

Explain the term representative democracies '

24

Suppase you were asked t0 g0 10 Sydney(Australia) for 3 mecting |
 from New Delhi on the 20* of June -

' a. What kind of clothes will you be camying with you?
b. Which season will you cxpenence there”

WOV e e =y~ . )
o |

SECTION - € _(M16-15)

“Hunmuhuusmwdﬁmplmmﬁlx}”,\w,w 13

26

[ Provide evidence o find out whether there were wocial differcnces | 3 |
amongst those who were buried according to the study of

‘a Define: The Panchayat Raj System
=b. Mention the role of the secretary of the Gram panchayat

i,

-
-,

| “Our earth has only one satellite ~ Di

i

}
I
t

r' e r——

_Ohu'nmhq..“ l
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S ECTION 1 (8x4-20)

| §

I

31 | Evaluate the Causes of 1,
7 T | € decline of the Harappan Civilisation K
32 | Differentiate the two y C
| & e Ypes of ROVernment
33 | Mustrate ar
; ¢ and explaip the Heat zones of the carth
| How can the

M

 the life of a ‘ .
- daughter? Imagine this situation and hist five differem

effects th; .
| that this stereotype can have on the w ay daughters get treated

COlype that girls are a burden on their parents affect . 8

| in the house

35

Over the years, many manuscripts were caten away by insects,
| ' some were destroved, but many have survived. These books dealt
with all Kinds of subjects. Many were written in Sanskrit, others
| were in Prakrit and Tamil.
| a. What are manuscripts’
% % b. was the language of the common man
| ¢ Mention two places where have they been preserved”?
36

While Kerala and Ladakh are quite different in terms of their

A=



AN e,

ST e ——

——
e ————

|

— es. Both regiony were influenced by

|

Chinese and ArsP
im-l-""""'
| | location

}»mw-n N
'l. Highlight the locﬂ"""”u"h and Ladakh

| s
b What are they known &8

T similar c.ml"' in M It was the svography of K

W"' ‘pioes and the special
of Ladakh and ity wool that drew traders

| While watching the night sky. WE may notice various patterns

formed by different growps of stars . These are called constellation
' Ursa Major or Big Bear s one such constellation. In ancient times

| people used to determine directions during the night with the belp
of stars. Some celestial bodies do ROt have their own heat and

light.
' a) Which is the most casily recogrusable constellation”

'b) What is the North Star”
¢) The word planet comes from the Greek word “Plancta™ means

_(i
i d) How can we locate the pomition of the Pole Stas”

.

|38

| SECTION-F Qa1-2)

\ W
| Identify the following in the given map of Indsa -

a. The Places where noe was firt grown are 1o the north of thas

range.

LR

b Peopic have lived along the banks of thas river for several

hundred thousand years.
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